Glacier codebook 13 Sept 2011
INTRODUCTION:

Individuals vs. records: Note: we code separately the attributes of the individual interviewees—birthplace, age, gender, education, residence, occupation, etc.

Turns vs. records: These codes apply to each “turn”—what one person says from when he/she starts speaking until he/she is done speaking and the next person starts.  You will occasionally see comments [in square brackets]. These are notes added later by the interviewer, focus group leaders or translator. Do not code them, since they were not part of the interviews or focus groups—though you can use them to interpret the rest of the turn. 

Three kinds of records: These codes cover three very different sorts of materials: interviews (in which one interviewer is talking to someone in the community about mountains and glaciers, often alone, sometimes with an interpreter or others around); focus groups (in which one facilitator is giving some guidance and direction to a group of people from the community, who are discussing mountains and glaciers); community meetings (in which people from the community have gathered, either on their own behalf or because some government agency has called them together, to discuss some aspect of community life). The interviews and focus groups are organized around questions of changes in mountains and glaciers, though people sometimes go off in other directions, sometimes for quite a while. The community meetings have agendas fixed by the local community or by outsiders, and sometimes discuss mountains and glaciers directly, or indirectly, or not at all.
Judgment calls: Some questions are unambiguous, while others call for the coder to exercise some judgment. With a little experience, the coders learn how much discretion to use. However, three general principles apply in nearly all cases:

1. To assign a value to a turn, look for specific words in that turn that justify your choice, rather than a general feeling about what the speaker was probably thinking or feeling.

2.  Though you are directed to code one turn at a time, there are some occasions in which a specific topic will extend for another turn or a few, and so you can continue to code for some variables. Be cautious in exercising this option. Send an email or check at the next meeting if you are unsure. 
3. The codebook uses different words and phrases to indicate the relation of the speaker’s words and the variable. “Refer” “say” “describe” and “use emotional language” set the standard of detecting a value very high, and require direct and unambiguous presence of specific terms. “Focus” “link” and “indicate” leave some more room for judgment calls. “Suggest” is the least strong term, and leaves more room for judgment calls.     
CODING:

Codeability: Note that each section of the codebook opens with a codeability question. Many turns will not refer to all sections, and some may not refer to any sections. Sometimes you will feel like you are looking for a needle in a haystack.

Note that some turns will get a 0 or 2 for question 1. 

IS THIS A REGULAR TURN, A MINIMAL TURN, OR AN EXTRANEOUS INTERJECTION? 

A minimal turn is one that is too short or too lacking in content for coding. There are several kinds of minimal turns. One is a short response like “yes” or “I see”. A repetition of the previous turn, with no expansion, is also minimal.
Extraneous interjections are material that appear in the interview, focus group or community meeting, but are not part of the discussion. One type is a heading in the interview, focus group or community meeting; the community meetings, in particular, have a number of headers that appear in the minutes of every meeting, and can be coded as extraneous interjections. A second type is a comment by the translator or transcriber.  Some community meetings include little jokes or proverbs that were not part of the discussion. In addition, the transcripts may include remarks made by or to people who are not part of the interview or meeting (for example, if the phone rings during an interview, and the interviewee calls out to a family member “Please pick up the phone.”)   A third type is material that clearly occurs before or after the interview or focus group.
1. Regular turn=1, please continue. Minimal turn=0 or extraneous interjection=2, go on to next turn.
SOCIAL/SPATIAL SCALE: These questions ask how big is the "we" or “us” that this particular turn focuses on.  A single turn can include references to more than one social/spatial scale.  Note also that you may see a specific social/spatial scale that you can’t code. For example, if someone in Italy says “in the European Union,” that is larger than the nation but smaller than the world, or if someone in Washington says “in Skagit County,” that is larger than the neighboring communities but smaller than the region. So you can’t code these. That’s okay—we are including only the most frequent and important scales.  You can assign a 1 (yes) to more than one variable in this section (2-11) because the speaker can refer to more than one scale; the same is true of temporal scales and impacts.
A note on social actors: In general, turns contain one or more sentences, which have subjects and verbs, and sometimes objects.  Here, we are counting both subjects and objects as actors. The subject does something, and sometimes does it to an object. So if the sentence is “My friend and I were eating,” the subject is “My friend and I.” If the sentence is “My friend and I were eating pizza,” the subject is “my friend and I” and the object is “pizza.” And if the sentence is “Hail hit my friend and me,” the subject is “hail” and the object is “my friend and me.” In all cases, there is a social actor (“my friend and me”) as well as non-social actors (hail, pizza). Some sentences don’t have social actors, e.g., “The sun was shining.” Or “The sun was shining on the ocean.” Or, “the hail hit the pizza,” though that would be a shame. Social actors can be actual people, or things that they own or that are closely associated with them. If a sentence said, “The hail ruined my family’s crops,” you could still count “my family” as a social actor. If you are not sure about “first person,” “second person” etc., look up the article “grammatical person” in Wikipedia.
A note on speakers: The following questions refer to speakers. In the case of interviews and focus groups, this speaker is either a community member or the interviewer/group facilitator. In the case of community meetings, the speaker is more indirect. The minutes of the community meetings are written by some individual (and sometimes reviewed and approved before being posted), but the codebook calls this person the “speaker” as well because he/she is the author of the turn. Usually the speaker writes in the voice of the meeting, writing in a way that presents what the people at the meeting said, so it is possible to code for a first person social actor if the turn summarizes what was said in the name of the community. Sometimes the speaker quotes or summarizes what some individual says (e.g., “The mayor commented that the town will repair the municipal water system.”) and in that case, you should code the quoted or summarized words of the individual. The minutes are sometimes written in a way that suggests that they address other community members as readers; that’s another reason to include a first person actor for these minutes. 
2. Does the speaker refer to some first person social actor (I, me, my, we, us, our)?  Note: we have a high standard for determining whether or not there is a first person social actor; we are only including the cases in which that social actor can unambiguously be detected in the given turn. Note: we exclude cases in which the “I” serves to indicate doubt or other states and could be replaced by other expressions: for example, where  “I think that it will rain” could be perhaps by “Maybe it will rain,,” then do not count this  as a reference to a first person social actor. 1=yes, 0=no, the speaker does not refer to any specific actor, or refers to a second person (you, yours) or third person (he, she, it, him, her, his, her, its, they, them, theirs). If yes, continue with next question. If no, go to temporal scale, which can still be present even without a first person social actor.   
3. Individual. Does the speaker focus on him/herself as an individual? Yes=1, no=0 Note than a “yes” on 3 does not exclude a “yes” on 4. 
4. Specified “we”. Does the speaker discuss a “we” or some group or collectivity to which he/she belongs? Yes, and the “we” can be specified=1. Yes, but the “we” cannot be assigned to one or more of the below=2. No=0    If 1 (specified), go on and indicate at least one more value as 1. If 2 or 0, skip ahead to Temporal Scale.
5. Kin. Does the speaker focus on the speaker’s household, family or relatives? Yes=1, no=0
6. Group. Does the speaker focus on the speaker and one or more immediate associates (friends, neighbors, co-workers, etc.), but not primarily on the speaker and close relatives? Yes=1, no=0

7. Community. Does the speaker focus on the speaker’s local community (village, town, neighborhood)?  Note:  you should check for the name of the community where the interview, focus group or meeting is taking place, so you can recognize it. Yes=1, no=0  
8. Nearby communities. Does the speaker focus on one or more nearby or adjacent communities (in the same valley, or the same part of a county, or close to the same mountain), whether or not the local community is included? Yes=1, no=0 
For Washington: Concrete, Rockport, Birdsview, Marblemount, Glacier, Snowwater, Snowline, Baker River, Baker Lake, Lake Shannon. 
For Italy: Stilfs, Trafoi, Sulden, Gomagoi, Stilfser Joch
For Peru: Copa, Siete Imperios, Vicos

9. Region. Does the speaker focus on the part of the country in which the speaker’s  community is located (e.g., Cascades, Washington State, Puget Sound area, Pacific Northwest in Washington, or the South Tirol in Italy (sometimes listed as Suedtirol), or the Cordillera Blanca/Ancash/Callejón de Huaylas in Peru)? Yes=1, no=0
10. Country. Does the speaker refer to the whole country in which he/she lives? Yes=1, no=0
11. World. Does the speaker refer to the whole world? Note: Sometimes the speaker will refer to “everything” in a way that clearly implies the whole world; this counts as a yes, if the link is very strong. Yes=1, no=0
TEMPORAL SCALE: These questions ask how far in the past and future do people look? This attention to other times can include hypothetical or uncertain events; such events are more often discussed for the future, but can also be discussed for the past. Please keep in mind that the past and future are in relation to the interview, focus group or community meeting, and not in relation to the time when you are coding (for example, if a community meeting took place in 2009, and someone referred to something in 2010, that would be the future since it takes place after the meeting; the same would be true of an interview or a focus group). I’m interested not only in the depth of time, but also in the units that people use to measure time. In other words, it’s not just when something happened or will/might happen, but how that point in time is described. A single turn can include references to more than one temporal scale.  Note also that you may see a specific temporal scale that you can’t code. For example, if someone says “when I was in third grade,” that is not a year, nor a life stage; if they said, “when I was 8 years old” you could code yes for years, and if they said, “when I was a child,” you could code yes for life stage. So you can’t code “third grade” as any listed temporal scale. That’s okay—we are including only the most frequent and important scales.
Temporal scale 1: past:

12. Does the speaker refer to the past? In other words, do the speaker’s words show that he/she is definitely thinking about the past? 1=yes, 0=no, the speaker does not refer to any past time (before the day of the interview, focus group, or meeting) for a social actor, whether first, second or third person. Note: we have a lower standard for determining whether or not there is a social actor; we are allowing you to infer more broadly some social actor in the given turn.  If yes, go on. Note: the use of the past tense is a good clue for reference to the past, especially in interviews and focus groups. In the community meetings, the people recording the minutes often use the past tense to report what took place during the meeting (e.g., The mayor said…) or during the day of the meeting and these events during the meeting are in the present, not the past.    If no, skip ahead to future.
13. Does the speaker refer to days, weeks, months or seasons?  Days=1, weeks=2, months=3, seasons=4, none of the above=0. If the speaker mentions a date by day and moth (July 4, October 17, etc.), count that only as day, and not as month; if the speaker had been thinking in terms of months, he/she would have just said July, or October. If there are references to more than one of these, select the one that is mentioned most often. If two or three of these are used most often, select the one that is mentioned first.
14. Does the speaker refer to years, whether as a specific date, a person’s age, or other uses?  Yes, specified number of years=1;  yes, specific date=2; yes, both specific number of years and specific date=3; Yes, imprecise or unspecified number of years or dates=4,  no=0

15.  If 1 or 3, indicate number of years. 
16. If 2 or 3, indicate specific year (for example, 2006)  (if a range, take midpoint; if necessary, round up)

17. Does the speaker refer to decades?  Yes, specified number of decades=1; Yes, a specific decade (e.g., the 1960s)=2;  Yes, imprecise or unspecified number of decades=3,  no=0

18.  If 1, indicate number of decades.  
19. If 2, indicate the specific decade. (if a range, take midpoint; if necessary, round up)
20. Does the speaker refer to centuries?  Yes, specified number of centuries=1,  Yes, a specific century (e.g., the 19th century)=2, Yes, imprecise or unspecified number of centuries=3, no=0

21.  If 1, indicate number of centuries.  
22. If 2, indicate the specific century.

23. Does the speaker refer to generations to measure time?  (e.g., “In my grandfather’s lifetime”. Just saying, “I saw my grandfather” wouldn’t count because that isn’t using generations to mark time) Yes, specified number of generations=1,  Yes, imprecise or unspecified number of generations=2, no=0

24.  If 1, specify: 1=mention of parents or children, 2=mention of grandparents or grandchildren, 3=mention of great-grandparents or great-grandchildren, etc.
25. Does the speaker refer to the life stages that form part of the culturally-understood life course (e.g., “when my friends and I were children,” “back in my teen years” “now I am an old man but when I was a youth”)?  We count “growing up” as a life stage. We are not counting birth, schooling, employment or marriage, at least in the US.  (In Peru, marriage often marks the boundary between “youth” and “adulthood.”) “Elementary school” is close to childhood but not close enough to count as a life stage. We will count “retired” as a euphemism for “old”.  Yes=1, no=0. [We may revise this one]
26. Does the speaker refer to anchoring events in national or global history (e.g., World War II) Yes=1, no=0

27. Does the speaker refer to the major defining phases in the community’s history (e.g., frontier times, or when lumbering or the concrete plant were important in Washington; the period of Austrian rule, or when local residents were primarily farmers in Italy) Yes=1, no=0
Note that 26 is about events—specific occurrences that stand out in the history—while 27 is about phases—longer periods that compose the community history. 
28. Does the speaker refer to  mythical or semi-mythical epochs (e.g., Biblical times, or the end of the world) Yes=1, no=0 

Temporal scale 2: future:

29. Does the speaker refer to the future? In other words, do the speaker’s words show that he/she is definitely thinking about the future? 1=yes, 0 no, the speaker does not refer to any future time (after the day of the interview, focus group, or meeting) for a social actor, whether first, second or third person. Note: we have a lower standard for determining whether or not there is a social actor; we are allowing you to infer more broadly some social actor in the given turn.  If yes, go on. Note: the use of the future tense is a good clue for reference to the future.   Note:  We include some hypothetical statements. Some statements are certain (“the sun will rise tomorrow”) but many  are uncertain (“It might rain tomorrow” “If I hear that it will rain over the weekend, I’ll change my plans.”) We call these hypothetical statements, and they reflect thought about the future. However, some counterfactual statements are hypothetical but are not really about the future since they are so speculative (“If the CRED lab had windows, we would like it better.”) If yes, go on. If no, skip ahead to Impacts.
30. Does the speaker refer to days, weeks, months or seasons?  Days=1, weeks=2, months=3, seasons=4, none of the above=0. If more than one of these is used, select the most important.

31. Does the speaker refer to years, whether as a specific date, a person’s age, or other uses?  Yes, specified number of years=1;  yes, specific date=2; yes, both specific number of years and specific date=3,  imprecise or unspecified number of years or dates=4; no=0

32.  If 1 or 3, indicate number of years. If the speaker mentions several intervals, use the largest (for example, if someone says, “I lived in one town for 2 years and then moved and lived in another town for 6 years,” record it as 6.) 
33. If 2 or 3, indicate specific date(if a range, take midpoint)

34. Does the speaker refer to decades?  Yes, specified number of decades=1. Yes, a specific decade (e.g., the 2020s)=2,  Yes, imprecise or unspecified number of decades=3,  no=0

35.  If 1, indicate number of decades.  

36. If 2, indicate the specific decade.

37. Does the speaker refer to centuries?  Yes, specified number of centuries=1,  Yes, a specific century (e.g., the 22nd  century)=2, Yes, imprecise or unspecified number of centuries=3, no=0

38.  If 1, indicate number of centuries.  

39. If 2, indicate the specific century.

40. Does the speaker refer to generations?  Yes, specified number of generations=1,  Yes, imprecise or unspecified number of generations=2, no=0

41.  If 1, specify: 1=mention of parents or children, 2=mention of grandparents or grandchildren, 3=mention of great-grandparents or great-grandchildren, etc.
42. Does the speaker refer to life stages (e.g., “now I am young but things will be different by the time I am old,” “when my children grow up”)? Yes=1, no=0.

43. Does the speaker refer to possible future anchoring events in national or global history (e.g., a new world war) Yes=1, no=0

44. Does the speaker refer to possible future phases in the community’s history (e.g., a period of great expansion of settlement in Washington; a time when new migrants replace local people in Italy) Yes=1, no=0

45. Does the speaker refer to  mythical or semi-mythical epochs (e.g., Biblical times, or the end of the world) Yes=1, no=0  

IMPACTS AND CHANGES: This section is designed to assess the effects/consequences of glacier retreat and climate change that people mention.  However, we include these impacts and changes (questions 47-59), whether or not the speaker links them to climate change. We include other impacts and changes as well, when they are at the community scale or larger, whether or not they are linked to climate change (question 67).  We include possible as well as certain impacts and changes; in other words, if people talk about a change that might happen, rather than one that will definitely happen, we include it. 
Impacts and change: note the importance of the word “change.” For question 47, for example, if someone refers to snow, but makes no mention of it having been different in the past or future, then he/she is not talking about change, and so the turn would be coded “no.” This point comes up for all the impact and change questions, including the last “Does the speaker refer to changes in economic or social conditions in the community, region, country or world?”
If someone mentions an occasional or rare event that occurred in the past, or that might occur in the future, it is not necessarily a change. For example, if someone said, “The only time I ever saw a comet was when Halley’s Comet came around in 1986,” or “The attack on the World Trade Center in New York in 2001 was awful, thank goodness that hasn’t happened again,” they aren’t talking about change, they are only talking about things that happen infrequently or only once. But if they said, “Katrina a few years back was a huge storm, and it seems to me that there are more hurricanes these days,” then they are talking about change. If someone mentions an election, that is not a change, even if a mayor or other official is replaced, since elections are recurring events; however, a revolution or a major shift in political regime would be a change. 

 Note also that you may see a specific impact or change that you can’t code. But there is one category, 59, that is very general (Does the speaker refer to changes in economic or social conditions in the community, region, country or world?). Nonetheless, there might be some specific impact or change that wouldn’t fit in there. The construction of physical infrastructure (buildings, pipelines, roads, etc.) may sometimes require the coder to exercise judgment, especially if there is no mention of a specific, codable change. For example, if there is a new building, and the speaker describes it as leading to changes in social conditions, or changes in tourism, or some other category with a code, it can be coded. But if the speaker doesn’t describe it as leading to one of those changes, then the coder might still code yes for 1 and 0 for 47-59, if the building is extensive and non-routine. (Just putting up a house isn’t a change, but adding a new neighborhood might be.) Similarly, if there is a new pipeline, and the speaker links it to changes in water supply, availability or quality, then it can be coded. But if the speaker doesn’t describe it as leading to one of those changes, then the coder might still code yes for 1 and 0 for 47-59, if the pipeline is extensive and non-routine. (Just putting in a pipeline isn’t a change, since it might be part of an ongoing maintenance program, or a small shift not large enough to count as a change.)
46. Does the speaker refer to impacts or other changes? NOTE: these can be unspecified changes, or can be “climate change” or “global warming” which do not get a code of their own for variables 47-59. 1=yes, 0 no. If yes, go on. If no, you are finished with the turn.
Impacts 1: nature of impacts and changes
47. Does the speaker refer to changes in the amount of snow? Yes=1, no=0

48. Does the speaker refer to changes in the amount of ice, including glaciers? Yes=1, no=0 [if it’s unclear whether the speaker is distinguishing snow from ice, try to judge from context which they are speaking about]

49. Does the speaker refer to changes in weather or seasons? NOTE: This refers to some specific change in weather or season, and does not include general references to “climate change’ or “global warming”.  Yes=1, no=0

50. Does the speaker refer to changes in water supply, availability or quality, whether for drinking, irrigation, hydropower, recreation or other uses? Yes=1, no=0

51. Does the speaker refer to changes in hazards, whether new ones appearing or existing ones becoming more severe or less severe? NOTE: We include drought as a hazard, though it would already be coded as a yes for var. 50.  Yes=1, no=0

52. Does the speaker refer to changes in natural vegetation? Yes=1, no=0

53. Does the speaker refer to changes in agriculture (including orchards and tree plantations) or livestock-raising? Yes=1, no=0

54. Does the speaker refer to changes in hydropower? Yes=1, no=0

55. Does the speaker refer to changes in the appearance, beauty or spiritual quality of the mountains? Note: This does not refer to whether the mountain is visible, but rather whether it is beautiful, or majestic, or spiritually inspiring, or simply has some characteristic look. Just because someone says, “I saw the mountain,” that does not mean that they are referring to appearance. To code for a yes, the person would have to mention that the visual appearance is, or might become, different from what it was. Yes=1, no=0

56. Does the speaker refer to changes in tourism? Yes=1, no=0

57. Does the speaker refer to changes in wildlife, including mammals, birds, or fish? Yes=1, no=0

58. Does the speaker refer to changes in recreation? Yes=1, no=0

59. Does the speaker refer to other changes in economic or social conditions in the community, region, country or world? Yes=1, no=0 [note that this excludes changes at only the individual, family or group scale]
If there is at least one change of the set in variables 47 to 59  that receives a 1, please continue. If there are 0s for all of these, go to the next turn. 

 Impacts 2: quality of impacts and changes. Pick the impact or change that is mentioned most often (or, if several impacts and changes are mentioned the same amount, that is mentioned first) and answer the following

60. Write in the name of the impact or change that is mentioned most often. If several impacts or changes  are mentioned the same number of times, use the one that is mentioned first. Use this code: SNOW, ICE, WEATHER, WATER, HAZARDS, VEG, AG, HYDROPOWER, VISUAL, TOURISM, WILDLIFE, REC, ECON-SOC
61. Does the speaker refer to impact or change as positive=1, neutral=2, mixed=3, negative=4, unspecified=0

For questions 62-65, the questions ask whether the speaker “indicates” something. Speakers sometimes indicate certainty, reversibility or seriousness directly, by saying “I am sure that x will happen” or “it would be a big problem if x happened.” Sometimes they indicate these points indirectly. You can make judgment calls in these cases, but be sure to base your coding on the specific words that are recorded in the turn, rather than on your own understanding of the particular impact or change.  

62. Does the speaker describe the certainty of the arrival of the impact or change? Note that if the impact or change occurred in the past, and the speaker refers to it unproblematically, then its arrival was certain. 1=certain that it will arrive sometime 2=uncertain whether it will arrive sometime 0=does not describe certainty

63. Does the speaker describe the certainty of the timing of the impact or change? Note that if the impact or change occurred in the past, the timing of its arrival could still be uncertain. 1=certain when it will arrive 2=uncertain when it will arrive 0=does not describe certainty of timing of arrival
64. Does the speaker describe the reversibility of the impact or change? 1=the impact is described as irreversible 2=the impact is describe as reversible 0=does not describe reversibility or does not have a clear answer on reversibility

65. Does the speaker describe the seriousness of the impact or change? In other words, does the impact or change itself, or its consequences, matter to the speaker?  1=the impact is of minor consequence 2=the impact is of major consequence, but it can be coped with somehow 3=the impact is catastrophic  0=does not describe the seriousness

66. Does the speaker use emotional language when discussing the impact or change? 1=yes, 0=no (Be sure to look for specific emotional language. “A poisonous snake is crawling up my leg” does not use emotional language; “the mosquito across the room annoys me” does. )
Impacts and changes 3: attribution and response:  Pick the impact and change that is mentioned most often (or, if several impacts are mentioned the same amount, that is mentioned first) and answer the following

67. Does the speaker link the impact or change to climate change or global warming? Yes=1, no=0  Note: the person may have a view of climate change/global warming different from science—he/she may think of it as a natural cycle of climate change, for example. But if they use the terms or others that definitely indicate climate change or global warming, code it as yes; otherwise, as no. 
68. Does the speaker link the impact or change to glacier retreat? Yes=1, no=0  

69. Does the speaker link the impact or change to some other environmental or natural cause?  This may include, but is not limited to, “cycles.”Yes=1, no=0  

70. Does the speaker link the impact or change to some cause other than the environment or nature, whether economic, political, cultural, religious or other? Yes=1, no=0

71. Does the speaker say that he/she does not know what the cause of the impact or change is, or is unsure of the cause? Yes=1, no=0  [note that this is different than not mentioning a cause; rather, it consists of actually say, I don’t know the cause. It’s possible for someone first to say in a turn that they don’t know the cause, and then later to mention a cause.]

72. Does the speaker suggest that the impact or change will lead to people moving out of the area? Yes=1, no=0

73. Does the speaker suggest that people will develop some response to the impact or change? Note that impacts, though often negative, can also be positive. So the response could be some form of coping to a negative change, or adapting to it, but it could also be a way of taking advantage of a positive change. Yes=1, no=0

74. If yes, does the speaker describe the response concretely? Yes=1, no=0
